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Selve 53 Setum-?oo'\- method :

yx-5 = 225
3x-5= 5
23%-5=5 or 9X-5=-5
x='> X=0
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(x -6)(x +6) = 64 X =100
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X -36=64 7C=t\/l_oB

,X?_= 64 434 @ %,il()l
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X~ —4%x -12=0
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(Zzx45)(3x%-1) =4S
D) Foil | SimghHy, W
Sorm.  £)YF -2x 415X -5 ~45=0
x> 3 x=50=0
2)Selve. by VSing Q vodvahe Sﬁwmulw.sz-fz%

& —40C = (13 -4C6)(-S0) =161 +1200 =369

1§ 3L is o prrRct-Squane, Tham
we <old also use 5:ac$or6nﬁ method.
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Mory dvove 225 miles in the Some +Hme
'\'\v\m/l Liso drove (65 wules.
20 mph slower than Mavy.

Lisow, Was Av;vml
we. now
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Mike Yrawn
Ne biked €O wiles.
Wy Spred biking was 1 wph Slower than

2 Fimes NS ">9e.eo\ Y\JY\‘Y\.W\Z.
© Compidre the St below

21 miles in The Some Hme that

@&;m\ huis SP!ea’

3 et on each P“""

Rowuing| 1| % | £ =t }“’/“6

)8 3x-1

Bikng | 60 |HA[ t = t’?x’i 1(3)«-1):207(

Rwvs @ "\ mph, 2\Y1=20x
Dives @ 20 wph. [X=1]

Liso wallked 1 wiles ,ond then hiked
120 wiles n her '\'rw:m'w\r] Sor Ninjoo Waviovs

COMPQ'\‘\‘\'\M\,

She wal ked 3 'm?\\ Foster than She huiked.

Total '\'\‘Qu\.w\g Yime Y houvs.
S\v\c)\ ‘\Q,\/ SPQ&J own ch»\ P‘”’\-

d xv  t te ¥ ty="
WWAI'S N %3 '\TUJ HLEEN ' =4
x4 X
- \
hike | 12 | X | LeD= X (X+3)
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« et Q=4 , b=-1, (=36
5 B0 ()4 (4)630)
LeD= X (x+3)
= 625
nx 4 12(03) 24X (x3) 6 i
2 Y= -biJ byl
T 423k = E 20 = 2
4" v —36=0 N x\gg-
M > ey o128
=4
—> N\ Kin T 32
T wph 4 " % 2 4
X T

Alen \_)03“3«:\ 39 wuleS , then he wWolked & miles,
he jois % w.ph Tosho- than he walks.
T dwe T bvs. Gind hus Speed JO3Rg.
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x XA T —Qx+40=0

235(x=4) + Lx=1x0x-v) \ 0=1,5=-8Y,

35y —140 +bx="TxE 28X =\40
2
Yx 40 2By © BTE
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